
Roll Number

INSTRUCTIONS TO CANDIDATES :
Read the following instructions before you answer
the questions. Answers are to be given in a
SEPARATE OMR ANSWER SHEET provided
inside this booklet. Break the seal and start
answering the questions once asked to do so.
1. Please write your Roll Number very clearly

(only one digit in one block) as given in your
Admission Card.

2. You have to answer 100 questions in this test.
3. This test has two Parts namely Mental Ability

Test (MAT) and Language Test. You have to
answer 50 MAT questions. In the Language
Test you have to attempt only one language.
That is either Malayalam (51 to 100 questions)
or English (101 to 150 questions).

4. Select the most suitable answer for each
question and completely darken the circle
corresponding to the correct alternative as
shown below.

5. All questions carry ONE MARK each.
6. There is no negative mark. Every correct

answer will be awarded one mark.
7. Do not write your name on any part of the

question booklet or the answer sheet.
8. Rough Work can be done in the space

provided at the end of this booklet.

Correct Method              Wrong Method

   1    2     3     4                  1     2    3    4
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)���150����������'
%�5��&�100��������	
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�������$�&����% MAT�&� 50� �������	

�
�������*�� (ie, Q.No.1-50). ���&�@�+�
������3�&�(����&��8$�3�(Q.No. 51-100
#���$�)�5�AB�&�9�C-+
� (Q. No. 101-150
#���$�)� �
��� �����$�&� ���%� (����

�����
�����(1), (2), (3), (4)���
�5�$�3�E��
�$
��8
�#���H��
���#-��������
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1. (���,0��������P��@�+$�&
COMPUTER  �������FNPOXSHQ
��
������$�&� PRACTICE ��
#�	��=����P
��Q�$���	�� ?

(1) SRIBULFD (2) ORICULFD

(3) SQDBWHFD (4) OPLAUIDF

2. HOTEL ���#�	
� 12 �����EAR
���#�	
� 8 ����  code ��R�
��B�&��BORE ���#�	

��������P����R�� ?

(1) 4 (2) 6

(3) 10 (4) 9

�	����������������(3 – 4) �S�����
�����	��� �T����,�*��3�&��2<

�&��$�L�	�
� �T������D��
	��%

3. 1, 3, 10, 21, 64, 129, 356

(1) 129 (2) 21

(3) 356 (4) 64

There are 150 questions in all. You have to

answer only 100 questions i.e. 50 questions
from MAT (Q.No. 1 – 50) and 50 questions from

Language Test. For the Language Test you
can choose either Malayalam (Q.No. 51 – 100)
or English (Q.No. 101 – 150). For each

question four alternative answers are given
marked as (1), (2), (3), (4). From these, find
the most appropriate answer. The number

denoting this answer is there in the answer
sheet against the question number
concerned. Darken the circle with Blue/Black
Ball Pen only. Record the answers thus in
the OMR answer sheet only. Do not write
anything in the question booklet except your
Roll Number on the cover page and rough

work in the space provided for the purpose.

1. In a certain code language
COMPUTER is wr i t ten as
FNPOXSHQ. What is the code for the
word PRACTICE ?

(1) SRIBULFD (2) ORICULFD

(3) SQDBWHFD (4) OPLAUIDF

2. If HOTEL can be given the code 12
and EAR can be given the code 8 then
what code number can be given to the
word BORE ?

(1) 4 (2) 6

(3) 10 (4) 9

Directions : Qn. (3 – 4) : Which of the
following numbers is wrong in the series ?
Select from the alternatives.

3. 1, 3, 10, 21, 64, 129, 356

(1) 129 (2) 21

(3) 356 (4) 64
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4. 66, 68, 72, 80, 94, 128

(1) 94 (2) 68

(3) 80 (4) 72

5. #���H��$��� 
 � ���
��'
��%
(1) PTD (2) GRK
(3) NQC (4) JLC

�	������� S� � 6����&� 7�#��$�1
������3�&� (������8��� (����
5U��V �T��!*���&��$���	���%
5#$�&���8�5U���V �T���
#�<��0�$�<�'
%�#�<��0�$�5U���V
 �T����5#$���� ,��
��
��
�
�3�&��&��$�<�'
%� (����� �����

��������$�$��
�����'
��%

6. a – m – b – – mcb – – mcb

(1) bacbab

(2) bcabab

(3) abcbcb

(4) abbbcc

7. 25B – 4 – DH – 11F – 8 – HN

(1) E, 8, 7, D, 9

(2) C, 7, 4, E, 9

(3) D, 8, 6, C, 7

(4) E, 8, 6, K, 14

8. #���H��$���
� W

(1) ��	�� (2) ���	��

(3) ����� (4) #8�	��

9. �����	��� �T���!*�$��8
#�<��0�$� �T����'
��%
13, 17, 26, 42, ?

(1) 69 (2) 67

(3) 71 (4) 70

4. 66, 68, 72, 80, 94, 128

(1) 94 (2) 68

(3) 80 (4) 72

5. Find out the odd one
(1) PTD (2) GRK
(3) NQC (4) JLC

Directions : In each of the questions from
(6 – 7) a letter/number series as given in
which some of the letters are missing. This
missing letters/numbers are given in their
proper sequence in one of the options.
Find out the correct options to each
question.

6. a – m – b – – mcb – – mcb

(1) bacbab

(2) bcabab

(3) abcbcb

(4) abbbcc

7. 25B – 4 – DH – 11F – 8 – HN

(1) E, 8, 7, D, 9

(2) C, 7, 4, E, 9

(3) D, 8, 6, C, 7

(4) E, 8, 6, K, 14

8. Find the odd one

(1) Walk (2) Hear

(3) Jump (4) Pull

9. Find the missing term in the given
number series.

13, 17, 26, 42, ?

(1) 69 (2) 67

(3) 71 (4) 70
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  10 ��#���	���
���	��#$�&
K��� �T�$�*
�(��D�O8


4�������X���16�������
�W

(1) 28
(2) 20
(3) 10
(4) 24

11. (��D� ���3
���� �����
 �T��K�
�W

(1) 5 (2) 17
(3) 7 (4) 14

12. (��D� O��

� �����
5U���K�
�W

(1) U

(2) H

(3) L

(4) W

10. Which one of the following numbers
should replace the question mark ?

(1) 28

(2) 20

(3) 10

(4) 24

11. What should occupy the blank space ?

(1) 5 (2) 17
(3) 7 (4) 14

12. Which alphabet should occupy the

blank space ?

(1) U

(2) H

(3) L

(4) W
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13. �#�� 100 �-?��#�	�� @�I�
Y

��	���%�0��-�
�9���@�I�
Y

����D
� � 30 �-?.���#-'���9���

@�I�
Y
�����D
� � 110 �-?.��
��	���%�5# ����#8�
� @�I
�
Y
 45°� ���*3#�&�����D
��+��#-'�����	���%��B�&
�#��9�E���K�
����$�&� Z��
	����W

(1) #�	
�0��D�.


(2) ��	
�0��D�.

(3) ��	

����	

(4) #�	
����	


14. (������P�@�+$�&
5 × 3 × 6 = 23

4 × 8 × 7 = 60 )$�&

6 × 3 × 7 = ?

(1) 25 (2) 26

(3) 27 (4) 28

15. ��,�
�&���*�M���	�����

�&���8���8��20
�8�1���2>�
���(����[�	�$��#M���	���%
9:� �[�	��=��-�
@�I�� (��M

�A�#�#�����#E���.��5��M���
	���%��B�&��,����2>���	

�2���#�

���.���'
�W

(1) 1 (2) 6

(3) 8 (4) 10

13. Ravi walks a distance of 100 metres

towards the north. He then turned to

the left and walks for about 30 metres

turns left again and walked 110 metres

finally he turned to the right at an angle

of 45° and walks on. In which direction

does he walk finally ?

(1) North West

(2) South West

(3) South West

(4) North West

14. If in a code language

5 × 3 × 6 = 23

4 × 8 × 7 = 60 then

6 × 3 × 7 = ?

(1) 25 (2) 26

(3) 27 (4) 28

15. Some cubes of equal size have been
arranged in the form of a solid block as
shown in figure. It is painted red on all of
its surfaces except the base. How many
cubes have three faces coloured ?

(1) 1 (2) 6

(3) 8 (4) 10
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Directions : Use the following series of
elements to answer the questions from
16 – 17.

3 @ 7 6 8 P 9 δ  Q 3 F 1 7 S D 4 * (13) U $
K (11) # (14) Q

16. Three of the following groups of
elements are alike in a certain way
and so form a group. Which is the one
that doesn’t belong to that group ?

(1) Q δ  9 (2) 6 8 P
(3) 1 3 F (4) D S 7

17. If each letter of the alphabet has a
value of zero, each symbol has a

value equivalent to the square of the
numeral that immediately proceeds
the symbol or the value of 1 if is not

immediately proceeded by any
numeral, what will be the sum of the
value of the first 10 elements of the

series starting from the extreme left ?

(1) 141 (2) 153
(3) 132 (4) 126

Directions : Questions (18 – 19) are based
on the following figure.

18. How many rectangles are there in the
figure given above ?

(1) 11 (2) 8

(3) 18 (4) 12

�	������� S� � ����
����	��
�!*���0�$�I�M
�16����&�17�#���$�1
�������	
��
�����'
��%
3 @ 7 6 8 P 9 δ  Q 3 F 1 7 S D 4 * (13) U $
K (11) # (14) Q

16. ��#��
����	�����8���,I2E�
�3�&� �2��G�� (��� ��
�&
 �����1#$�*
��B�&�#���H
��$�,I2E
�K�
�W

(1) Q δ  9 (2) 6 8 P

(3) 1 3 F (4) D S 7

17. (�����9�C-+
�5U�
��=$���#�8
02L���$���(��� �T��$�0��������
#������X
��=�#�8�)� �T�$���
#�\��$��� �T��$�0��������
#��
���X
��=�#�8�(��$��
)���0��M�&�9����#�
�������
)���
�0

�5�I�3����#�8
�3���������Q
�W

(1) 141 (2) 153

(3) 132 (4) 126

�	�������S� 18����&� 19�#��$�1
������������	�*�����,�#�
��$��>]�E<���	���.

18. ���3�&	�*�����,�
�&��,�
��������'
�W

(1) 11 (2) 8

(3) 18 (4) 12
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19. How many triangles are there in the

given figure ?

(1) 28

(2) 32

(3) 30

(4) 26

20. This question consists of two words

that have a certain relationship with

each other. Select the options pair
which has the same relationship as

the pair of words in the questions

Karnataka : State

(1) Paper : Book

(2) Fire : Smoke

(3) Water : River

(4) Gun : Weapon

Directions : Questions (21 – 22) Which of

the following figures represents the

relationship among the three classes ?

  (1) (2) (3) (4)

21. Nitrogen, Ice, Air

22. Forest, Earth, Mountains

19. �����	��� ��,�
�&� �,�

,�����*����'
�W

(1) 28

(2) 32

(3) 30

(4) 26

20. �����
�&������	��� �'�

#�	�����^�&�(���>]��'
%

9:�>]����_�8�	�$��+�

 ���>]��#�����L������'

��%

��G��� :  �O���

(1) �0E� : 0�H��

(2) �- : 0��

(3) �#1� : ���

(4) ���	
 : )$�`�

�	������S� (21 – 22) ����
����

	����2��� ,I2E���3� 2��E�	��

��,��%� �
� 2���3�&� �����

��'
��%

  (1) (2) (3) (4)

21. ���,�L�, �� 
, #�$�

22. ���
, @2��, ������
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Directions : Questions (23 – 25) are based
on the given figure. Study the figure. There
is some relationship between two terms to

the left of : : and the same relationship holds
between two terms to the right. One term
to the right of : : is missing. Find out the

missing term ?

23. LKJ : AYE : : HGF : ?

(1) PXN (2) APX

(3) WXQ (4) MYA

24. VWST : XAR : : ? : RET

(1) WSRX (2) QRTU

(3) XQUV (4) RSWS

25. IQR : AUV : : MSR : ?

(1) XYQ (2) BCD

(3) RSE (4) EWV

26. In a queue shekhar is 12th from the

back. Peter’s place is 20th from the
front. Vishal is standing in the middle

of the two. What could be the

minimum number of children

standing in the queue ?

(1) 23 (2) 25

(3) 20 (4) 21

�	������� S� � 23� ���&� 25#��
������������������	�����,�

����5��O����	�$�33#$�*
%
�����
�&�: :������X
��=�9���
#�
�1��'
�#�	�����^�&�(��
>]��'
%�9:�>]����_�8�	�$
��+�� ����>]��#����#8��
#��
�#�<��0�$�@�I����'
��%

23. LKJ : AYE : : HGF : ?

(1) PXN (2) APX

(3) WXQ (4) MYA

24. VWST : XAR : : ? : RET

(1) WSRX (2) QRTU

(3) XQUV (4) RSWS

25. IQR : AUV : : MSR : ?

(1) XYQ (2) BCD

(3) RSE (4) EWV

26. ��T��(�����2#�&�0�.���#�
�
������ 12a���O��

���&	���%
0-?����2#��=����#�
�������
20a���O��
�*
%�9��#�	��
�`�
�$�� #���&� ��&	���%
�B�&�)���2#�&��'�$�����	'
��.D��G����<�����,��W
(1) 23 (2) 25

(3) 20 (4) 21
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27. In a group of cats and crows, the
number of legs is 12 more than twice
the number of heads. The number of

cats is

(1) 6 (2) 4

(3) 5 (4) 8

28. If the letters of the following words are
arranged in alphabetical order and the
group of letters so formed are

rearranged in a dictionary which word
should come third ?

(1) Read (2) Draw

(3) Back (4) Play

29. In the following question two
expressions on either side of the sign
(=) will have the same value if two

terms are replaced as given in the
alternatives. Find out the correct
alternative option

2 + 5 – 3 × 4 ÷  4 = 2 + 3 × 12 – 4

(1) 2 and 3, ‘+’ and ‘×’

(2) 2 and 4, ‘+’ and ‘×’

(3) 2 and 4, ‘÷ ’ and ‘+’

(4) 3 and 4, ‘+’ and ‘–’

30. Mohan walks from his house at a
speed of 5 kmph, speed and reaches
his office 10 minutes late. If his speed

had been 6 kmph he would have
reached 10 minutes early. What is the
distance to his office from his house ?

(1) 8 km (2) 15 km

(3) 12 km (4) 10 km

27. 02M�3�����	�3���5���$�(��
�2<
��=� ��8��3���� )��
�G���8�3����)����G
��=
9�<��$	��12a�2���8�*
%��B�&
�2<
�8�1�02M�3�����G�
��,��W

(1) 6 (2) 4

(3) 5 (4) 8

28. ����
����	���#�	��3��8
5U���3�5U���8�,��
�&
,��-���M������+�� ��<��
#�	���3�P��
+*.��(��P.�&
�����$�&� �2������ #���
#�	
�K�
��W

(1) Read (2) Draw

(3) Back (4) Play

29. ��#���	���
���	��������

�&��'
�0�����
�� 2���
$�&������	�����0��8���?�
$�&� ���X�4b6
�����#�
�
��1� �T��#��������8�
���������$�
�����'
��%

2 + 5 – 3 × 4 ÷  4 = 2 + 3 × 12 – 4

(1) 2 and 3, ‘+’ and ‘×’

(2) 2 and 4, ‘+’ and ‘×’

(3) 2 and 4, ‘÷ ’ and ‘+’

(4) 3 and 4, ‘+’ and ‘–’

30. ���c�� ��=� #-<�&� �����
(�J- ��8Y
� 5 kmph� � �#I�$�&
 Z��M�&�(�J- �&� 10� ����<

��#����
���%��#I�� 6 kmph
)�*B�&� 10� ����<
� ����

(�J- �&��
���%��B�&�(�J- 

#-<�&��������,���2�
�8�*
�W

(1) 8 km (2) 15 km

(3) 12 km (4) 10 km
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Directions : Questions (31 – 32)

A * B means ‘A is the daughter of B′ .
A # B means ‘A is the son of B’

A @ B means ‘A is the wife of B′

31. If L @ M # P @ N, which of the
following is not true ?

(1) P is the mother of M

(2) N is the husband of P

(3) L is the wife of M

(4) M is the daughter of P

32. If C # S @ P # W * Q. What is W to C ?

(1) Father (2) Mother

(3) Grandmother (4) Daughter

Directions : Questions (33 – 34) : Study
the following diagram carefully and choose
the correct answer for the following
questions.

Patients

Singers

Professors

Doctors

33. Which of the following statement is true ?

(1) No patient is a professor

(2) All professors are doctors

(3) All doctors are singers

(4) Some patients who are singers are
also doctors as well as professors

�	�������S��(������� 31 – 32)
A * B ���& ‘A’ ,‘B’$������3�*
%
A # B ���& ‘A’ , ‘B’$��������*
%
A @ B ���& ‘A’, ‘B’$����@���$�*
%

31. L @ M # P @ N,)$�&�����E.
$��#$�&���?�$�>]��K�
�W

(1) P, M �=�5^$�*


(2) N, P$����@�
�#�*


(3) L, M �=�@���$�*


(4) M, P$������3�*


32. C # S @ P # W * Q. )$�& W, C
$����)��*
�?
(1) 5d� (2) 5^
(3) ��
e� (4) ���

�	������� S�� (������� 33 – 34) :
��#���	���
���	����20��!"�
02�f��0g�M������+����#��$�1
�������	
��
�����'
��%

���I���

0�<����

�,0�J ����

�P�h����

33. ����
����	��#$�&�K��
,0H�#�$�*
����$�$�<�1�
�W
(1) (������I�$����,0�J .A
(2) �A���,0�J ������� �P�h�
����*
%

(3) �A���P�h�������0�<�����*
%
(4) 0�<�����$�1���8� ���I���
�P�h������� �,0�J �����
��*
%
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34. Which of the following statement is
not true ?
(1) Some doctors are not singers
(2) All patients are singers
(3) Patients who are doctors are singers
(4) All doctors are singers

35.  Directions Questions (35) :
In this question there are two statements
followed by four conclusions I, II, III and
IV. You have to decide which of the given
conclusions logically follows from the
given statements ?
Statements :
Some rabbits are birds.
All birds are vegetables.
Conclusions :
I. Some birds are rabbits.
II. No bird is a rabbit.
III. Some vegetables are rabbits.
IV. All vegetables are rabbits.

(1) Only I follows
(2) Either I or II follows
(3) Either III or IV follows
(4) I and III follows

Directions : Questions (36 – 37) :

Read the following statements and
answer the question given.

Anand has five books P, Q, R, S and T
each of a different weight.

P weigh’s twice as much as Q

Q weigh’s 3 and half times as much as R

R weigh’s half as much as S

S weigh’s half as much as T

T weigh’s less than P but more the R

34. ����
����	��#$�&����$
A�
�,0H�#��K�
�W
(1) ��8��P�h�����0�<����A
(2) �A�����I��3���0�<�����*

(3) ���I��3�$�1��P�h�����0�<�
����*


(4) �A���P�h�������0�<�����*



35. �	�������S�� (�������  35) : 9:
�����
�&��'�� ,0H�#��3��
�����
�I, II, III, IV ���������8�
��I����3���'
%� ,0H�#���3
$�7�$�7��$�� 0��������
��I����K���
���'
��%
,�,�-�
�� :
��8���$8����0U��3�*

�A��0U��3���0M	.��3�*
%
�	.)��� :
I. ��8�0U������$8��3�*

II. (���0U�$�����$&�5A
III. ��8�0M	.������$8��3�*

IV. �A��0M	.��3�����$8��3�*


(1) I ��,����$�L�	���
(2)  I (� II (���$�L�	���
(3)  III (� IV (���$�L�	���
(4) I �� III ����$�L�	���

�	������� S� � (������ 36 – 37) :
��#���	���
���	��� ,0H�#�
���#�$�M
������	�����������	

�
�����'
��%
)�i��=����#��� P, Q, R, S ,T ���
����#���H�@���
����2��$�5Z�
0�H��3�'
%
P $����@����Q �=�@��
��=�9�<�$�*

Q �=�@����R�=�@��
��=��2������*

R �=��@����S �=�@��
��=�0����$�*

S �=��@����T $����@��
��=�0����$�*

T$����@����P $����@���
	�����.#��
R�=�@���
	����2���8�*
%
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36. S is behavior in weigh’s than which
of the following books.

(1) R (2) P

(3) Q (4) T

37. Which of the following represents the

descending order of the weigh’s of the

books ?

(1) PQTRS (2) PTQSR

(3) TQPSR (4) RSQTP

38. In a class half of the students
participate in the music competition
and half of the remaining participate
in the dance competition. Half of the
students participating in the music
competition and half of the students
participating in the dance competition
participate in the drama competition.
Then the shaded portion of which of
the following diagrams represents the
students participating in the drama
competition ?

(1)

(2)

(3)

(4)

36. S ���0�H�������
����	�
�#$�&� K��� 0�H�
���
	���@�����2��$�0�H���*
%
(1) R (2) P

(3) Q (4) T

37. ����
����	��#$�&�0�H�
�3���� @����5#���c*,��

�&� 2��E�	�����
�W
(1) PQTRS (2) PTQSR

(3) TQPSR (4) RSQTP

38. (���j�_��8�0�������<���� �I-�
�& �
�����>�	�$�1#��&
0������0��P�� 
��& �
����
0�B��	���%� �I-��& �
�&
0�B��	��#����� 0����$��
P�� 
��& �
����0�B��	��
#�����0�����E���������& �

�&�0�B��	���%���,�
�&
�+$
P���$k�@�I�������& �

�&0�B� �	����< ���3
,0����̀ -���	�����B�&�5����
 2��E�	������$�$�P$,I�
K�
�W

(1)

(2)

(3)

(4)
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39. Choose from the options, the box that
should be formed when figure A is folded

Figure (A)

(1) (2)

(3) (4)

40. If March 15, 2006 was a Wednesday,
what day of the week is April 10, 2010 ?

(1) Monday (2) Wednesday

(3) Saturday (4) Sunday

41. Select the options which is
embedded in the given figure ?

(1) (2) (3) (4)

39. �20�� (A)��0�$�I�M
���	���'�
	����0<�$������,���K���

�
� 2���3�&������� ���
�D��	��%

�����20��(A)

(1) (2)

(3) (4)

40. 2006 ���M
�15 >�`���
��)$�&
2010  K,0�&� 10�K�
���# ��$�
��	���?
(1) ��B3��
� (2) >�`���
�
(3) ���$��
� (4) l�$.��
�

41. �����	����
� 2���3�&
K�����,���*
���#��������
���
	�����,�
��=�@�I��$�<�1�
�W

(1) (2) (3) (4)
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42. Which of the options is the mirror
image of the given figure when the
mirror is hold at the AB position ?

43. In the following question select one
of the options which fits into the blank
space of the given pattern

(1) (2)

(3) (4)

42. ��E*�� AB� �0� �+��8�$�&
����
����	��� �20
��=
��E*�,0��>��>���
� 2���
$�&�K��*
�W

43. ��#��
����	���0��?*��8
�2����$�O8
��
� �$�L�	��
��,����
� 2���3�&������
��'
��%

(1) (2)

(3) (4)

(1) (2) (3) (4)

-13-
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44. Choose the correct alternative from

amongst the options which completes

the figures matrix

(1) (2) (3) (4)

Directions : Questions (45 – 46) There is a

relationship between figures A and B. Find

the figure which establishes a similar

relationship between C and D.

45.

44. ����
����	�����,��3���
��,���m
�02�
-���	������$�$
�20�� �
� 2���3�&� ���

��'
��%

(1) (2) (3) (4)

�	������� S�� (������� 45 – 46) :

��,�
�&�A�$���B�$���� �̂&�(���,0����
>]���'
%�9���>]��C$���D$���$�
#�
	��-��$�8�1��20��K���

��'
��%

(1) (2) (3) (4)

A B  C                        D
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46.

A B C D

(1) (2) (3) (4)

47. Select three out of following five

alternatives figures A, B, C, D, E

which together form a complete

square

            

 A   B    C        D         E

(1) ACD

(2) CDE

(3) ABC

(4) BCE

48. Find the odd one out

(1) (2) (3) (4)

46.

A B C D

(1) (2) (3) (4)

47. A, B, C, D, E  ��-�5Z����,�

�3�&�������K��� �2�����,�

�3�����������+�����
�&

(��� ����������^�	���W

          

 A   B    C        D         E

(1) ACD

(2) CDE

(3) ABC

(4) BCE

48. #���H��$���
����
��'
��%

(1) (2) (3) (4)
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49. A sequence of figures is given below

and a question mark is given in the

place of the ourth figure. Which one

of the options marked 1, 2, 3, 4 should

come in the place of the question

mark in the sequence ?

(1) (2) (3) (4)

50. A piece of paper is folded as shown

below ad cuts are made as marked.

What would be the paper be like when

unfolded ? Choose the answer from

the options.

(1) (2) (3) (4)

49. (���,����0�8�M����'
���,��

3���� (��� �!*����#��� �����


���	���%�9��&���8���


��,�
��=�O��

� �����

��X��*�1�
% 1, 2, 3, 4 ���

$�3�E��
�$�<�1� �
��20

�3�&� K��*
� ������ ��X


��=�O��

�#��'�
�W

(1) (2) (3) (4)

50. (�����8� ���+*����,�
�&
��*�M���	�����0��8���	�$
��+� � � �. �M �� �	��� % � 9:
��8�_���+*����#�
�$�&
����$�$���	��%� 1� ���&
4#��$�1� �
��!*�$�&
�������
�����'
��%

(1) (2) (3) (4)
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51. �Q����,0�F��$�&� :i���$��$���n
�1Q��/�c��L-#���
��`���E�

M-�����o
n�9:�#�����K�
��#��$�
�8��*
�W

(1) #��p���-0�$�

(2)  :i���8c��

(3) ��3��

(4) 5����$��8	


52. q���M��
�r�������#&
�����$���
�W

(1) ��%�����i�

(2) ��%�0�%���c^�


(3) ����$�

(4) ��	����

53. �#G	A
����5�s��#���
0����
�W

(1) �F+
*��8 (2)  2����8

(3) ����8 (4) tU
*��8

54. �#��Y���#�#�
�
��������3
 �c����5	����$���$�����,i
 �c����5	����$���$���5#��P

8@�M��#��)�
�W

(1) ��#�8������$*E*�	�

(2) )?2���#�#�^

(3) �%�5RE�

(4) .J-	
�5c^�


55. ��`#�	�<��9�C-+�&������
��
������ p-���M����
�28�������

(1) ��8��� 
 (2) �.� 
����

(3) �� � 
��� 
 (4) ��`#�

56. 0.$���)�����s��#���

0����
�W

(1) �,0+��� (2) �!���#


(3) �,0U�� (4) #7�#


57. 5#�����pI�
����0�.�
	�

���	�� 9#���� ���pI�� ��

#�	��
�5�s��Q
�W

(1) @$� (2) )���U

(3)  �Q�+� (4) ��ST�

58. ��%���%�$����01�#�3�����&M�

8��������s� ����$�$�


K����0��8�*
�W

(1) )�*���

(2) 9��<��=�)u�#


(3) ���^�8��

(4) (���#�	��#-�I�s

59. q��?�#����<��3r���


��
�v�+�M��#��)�
�W

(1) !-����$*�I���

(2) ����������

(3) 9��e��

(4) ��#�8�E�1�

60. )+������������28������

�&� 5.�$�E���� ���
�
�����)�
�W

(1) 0�%� �%���<��F+
*�

(2) ��%���������

(3) ��%�!-�����

(4) ��%���%�������

Language Test
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61. q5w�8�����#�<��r���

���8�$����5�s��Q
�W

(1) �0���.����	��

(2) )�#���58$��	��

(3) �A���0�$�3���(��M�

,0�$�I�	��

(4) ��ex���@��	��

62. 0���O�����,0�y�3�&����Q��

9��0�����8$�3��#$�,��

)�
�W

(1) cF�$������

(2) ��%�)�%��-�

(3) ��%�8-8�#��

(4)  �I�������

63. 5��Q�����0���0����M����

��
�K�
�#�`
�8�*
�W

(1) )���z�5Q�

(2) 5���z�5Q�

(3) 5�z�5Q�

(4) )���z�5Q�

64. q�#3�M
��=�#��8���r���

0�g@�I��K�
� ���#8�&������

���
��*
�W

(1)  �"��s

(2) �^�M�

(3) ���#
��=��G


(4) �0E���8�P
L


65. q�I�
�&�(���$U�r���
�#��$��8�,0��$��K�
�L-#���
#O$���$��>]�E<��*
�W

(1) ,0*$�

(2) #��c�

(3)  �Q�+�

(4) ,0�F��� yc�

66. ���
�,0���28� �c�����3
5��L-#�M��#3��#�	
�� �̀ ��*
�j����>�`�	�A%�9:�)�$�
#����0��Z�A
�K�
�W

(1) ��'�E2M��8���Y��

(2) 5���$��D�&�)$������	

(3) �-$�&���3M�
��#$�8
��#������

(4) �-$�A����0��$�'���A

67. #���0�	�� ��� 5�s
�&
,0�$�I�	�#���0���K�
�W

(1) ��Q� (2) 0�{�

(3)  2�� (4) �p�L�

68. ���$�$�0���K�
�W

(1) )��s�� (2) )`�s��

(3) )��s�� (4) )s����

69. 5$�3����,0 �I�������$.�
5��#�$�<�,0�$�I�����'

9#����5�s��	���
��Q�*
�W

(1) 5$��	
�,0 �I��02�
�
$�	������D�A

(2) 5$���#�+$
�&���������.�
��?�Q��	�$��,0 �I�M�

(3) ,0 �I���-'��0�$�

(4) 5$�3����,0 �I���#I�
5# ���M�
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70. 9�������		����&0.����n

�����8$
��� �.�$�
�
��*
�2

��?Q��������	����|��	
 �w��I��$
��-��8$�3�@��+�o

9:��#��$�&�0������	��
O8���
�W

(1) ��1�	�.�e����I8�

(2) ��Z��0.�


(3) ���8
����


(4) ��.�����
�

71. ��3��� �=�K����F��$�8�*

$U���s�0�,���$��#����
�W

(1) ��v �i��

(2) ������ �@#�

(3) 5@�}�������Q3�

(4) ��3#���~����,��

72. �#���	
� �8���������� (��
@�+�$$�12%���
�5@�,0�$�E<
�#��)�
�W

(1) (�%���%�#�%

(2) 0�%�@�|��

(3) #$8��

(4)  M����i�

73. �0�	�E<#�����#�	
�����#
��s
�&�#A#��$���0?��0.$�
��B�&�5�
� �c�@���
��8
K�
��s�0�,��
	�.�M�*
�W

(1) ��G�

(2) 5�p����#


(3) ������`��

(4)  c��#�

74. 5	����������F���K��
 �c����#�@�I
�&����E�����W

(1) ���#&

(2) L-#���,��

(3) )u��s�0�T����

(4) ���20*�

75. �7�$�����#����.�$�E���
���
�W
(1) 5	�
�
(2) 9��e��
(3) ��%�#�%��F+
*�#����
(4) ��^��<�����F+
*�

76. q�Q����������$�*���3���
�$���� T-�n

�Q����.Y���-���w�����3�&r

9:�#�����)������*
�W

(1) �����

(2) ��%���%��	��


(3) ��8E�<������$*������

(4) ��^������	�

77. ����������
���	��#$�&
)u��s$A�
��F���$�
�W

(1) �<���
��������

(2) (��^$�����-��3�&

(3) ����0�0.	���0U���

(4) 5������*�
����

78. �G-��������#���)�����L-#��
�s$�*
�W
(1) L�%��B�	�.�E��=

(2) ��%��I�#�i�=

(3) ��%���%���c^���=

(4) #�%���%�@<����E����=
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79. ������$?����� ����$�&
��$���$��5@��$�M�
�)�
�W
(1) ����������#*�
(2) @��
��I�0�
(3) ��8��
(4) �I�0�����

80. qq���� ,0 #�M���=�5^
���� ,0�-U�	����� �0��8
@���#�������,0�-U�	����A�Wrr
)�����#�	��3�*��
�W

(1) � 
%���%��0��?	�<


(2)  �@�+
��,i�

(3) ��#	����c^�
�>+-�

(4) (%�#�%�#�L$�

81. q#-<�
������0�M#�=� 2U�
E��3�*
r� n� K��� �s$��8
 �@�+*��*��
�W

(1) (��^	�.�E


(2) ��&
-�



(3) #��p�20�

(4) #��p#�T�����$��2	


82. ����������
�<�1��&����$�$
#������
�W

(1) ��<��9��8�j� �&�#��

���=����*��0����28��*
%

(2) ��,w-$0�#��� �����$��0�#��
 ��
���0�#���$�@��
������L�
��=�0����I���$
��_�E��
���%

(3) ��v �i�
��8�,0��0����
,0�$L�#��c����'
����+�
��_�&��'������#�8��
�#��$���*
%

(4) �0�8- �����=� c�$
�&
���8���D$��3�)��0,��$�
�8
�M�%

83. �0�$�� �̀#�̀ �	�8
���	�3��n

�����,0�$���'��	������������

n�9:�#���3���� �����3
�

8�1�#�����K�
�W

(1) ��I��3��������I���8

��$��

��3���8�����0�������

(2) #��o� :���,��o�������o��-

� ���	*�

���������#���D����

#�	���

(3) ��������E�&�����

#i�M��#��N���

!-����H����$����0.D�

��������

(4)  �8������8#��8���8���

��3>��

 �� �� �$2L� ��� �f p��

84. q0������	����#�3�E�������	���

0��
��0�ZY����#�����'���0�r

��+���� ,0�-�
�M����'


��#�8�E�1�� ���M�9:��#��

$�����0�
��Q
�W

(1) �'���F+�	��

(2) 0�$�3���

(3) )_���0*�	��

(4)  c��=����
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85. ����� �����
���	��#$�&

I���� ����� ������$��$���

�F���3�&����E��
�
�K�
�W

(1) �3���������#���8��

(2) ��*����#���8��E�.�

(3) (��	���#A�E����

(4)  ��	�$��8��#-U*�

86. �����0�������
�����%

(1) 5�2���I�0�8 (a)  �i���3��

�F+
*�  �i�N����

(2) � 
%�#�%��#*� (b) #�&	G���

�I�0����$�

(3) ��%�)�%�>�% (c)  ����$���

�8���

(4) �.2>
 (d) (?E�8�

(1) 1– c (2) 1– b

2 – a 2 – c

3 – b 3 – d

4 – d 4 – a

(3) 1– c (4) 1– d

2 – d 2 – b

3 – b 3 – c

4 – a 4 – a

87. 5���0��8�����2<�A�$������#B�&

)�#��$�A�	����3�&�l��

5��*��$�
-�����)����$�
�2<��2��$�������*
� �8T��

9#����0������	���
�W

(1) ��$�<��������$�

(2)  ��Q������$�

(3) ��3�$E����$�

(4) � ��� ?�	������$�

88. q5�����<�E�����=��1


)Q��E�$�r
>+-.��=���_
�)3�	
�$

 i�@���
�W

(1) �0�8- ������#�3	
���T


��E�M
�������������M�E��

(2) �^���
���E������.�M

0.D�E��

(3) ����#�����2.�&� p$��@�*�
��<��$��������������<

�E��

(4) @I�
 ����=���,����*�

 �,�<.��0.D�E��

89. c���8$�0�f��� n�c���8$�

���0�#��%�c���8$0���p�
#�,Ic��M������
��,0���

��*
�W

(1) c���8$�����0���p�

(2) c���8$
��=�0���p�

(3) c���8$#���0���p#��

(4) c���8$������0���p�
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90. q)u�s�$����E���� ���<�

�����8����8
	����F��$�*�r�
�W
L#c�8�&���c
.�#��=�K�

�F���$	�.�M�*
�9:�5@�,0�$�
��T�E��
�$�<�1�
�W

(1) (�d�����	$M��
���

(2) �����#����������

(3) 9Q��$���'
&

(4) � �#�$?
�.+�

91. �c��z��������
�����
����
��
�K���#�`
�8�*
�W

(1) �c�����

(2) ��c����

(3) �c2���

(4) �c
����

92. q�Q���0�1$�$�@�I�#�	����o
5#�	.�$��/�9:����#��,���*
����	���� @����$�#���$�
�*�

9:� �@�+*
�&�0������	��
���#��)�
�W

(1) ��_� 
��8



(2) 5�

(3) ��Q�)��

(4) �#8	���

93. 5��8�����&���?
%�5�8�
���0�
��=�5�s��Q
�W

(1) ��v�

(2) �,i�

(3) �-

(4) ��

94. q(����#��	���'��0U�r� �����$

)�$�� ���	�1��� ��?���

0��Z�A
�K�
�W

(1) 5^�$��A�$�8����'��0U�

(2) 5B#�����*�����3�$���(��	��

(3) (����&��3��	
�0�.



5�AB�&�)���=���Z



(4) 9���#�<?#���0������M

�0��8

95. 5��v�����+�������

���'
�5�s��	����Q
�W

(1) 5�c�$�A�
�����+��

(2) #�8$�A�
�����+��

(3) #�8���	���#�
�����+��

(4) �w�E��������+��

��#��������
���	���I��@�I�

#�$�M
�5�������������
������

��	
��
��������%

5��@#�M��������)��$���@$

	����5��0���5#���E�M��#�$�*


��#�8�E�1�%� 9:�5��@#��
���$�*
�5��c
��=��#��Y

�:+�3�� 5��3���
%� ���.	2��
0.D�&�������,���0.$����#�%

 cF�$��8��
��
�5��c��K�.
,0�$B���*
%�>8������L8� 
��������#��$�82�����+�

�,�#�
�$�$#���E�M���#�8�
E�1�	
��F+�$�&�K��E<#����


#8�$����E�*
%
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���E#A�������#��$�&��#�

��=� 5��@#�3�*
� ��,�-���

	���
%���$$��� A�0#�������#��

�#��$��� ��#�8�E�1��K?#��

9w�E���� �2��� �����3�*
%

�.*���3

�L�%��B�	�.�E��=

#-<�&� ����E��� ��#�8�E�1�

�'� ���
�� ���M��� 5�
@���

���$�����%����E#A��$������#<�&

��3��������#���$�� �c��#�

������%�5��c
��=���3���T



58���L�3��� ������� :cF�M���

#���D�����%�0��+
�����3��*�


5@�����	��#�

�F+�E*���$k����'����8
	�����

0���$	��������#��&� L�3�

��'�#��� p�@�#����*�A��W

96. ��#�8�E�1�$�����#��Y


�:+�3��5��3���v����K�
�W

(1) ���@$�p�

(2) ,0�F��� yc�

(3) ��_�I�

(4) ��p��Q

97. �#�$����K�
� p�#���+��*

�8T����)��+�	���
�W

(1) @7�

(2) 8�3����

(3)  �� ]�

(4) �#��p�

98. ��#�8�E�1�	
��F+�$�&�K��E

���#����
�#8�$����E�*
���


�8T���#�8$���
���
��Q�

���'�*
� W

(1) L8� ��������#��

���M�
����'


(2) ��+���$�����'


(3) �F+�$���$��>]�E<

�#��������M�����'


(4) >8��������+���,�#�
�

$�$��5#���E�M�
����'


99. ��#�8�E�1��K?#���9w

�E�����������K��A���W

(1) ��$/� A�0�/�����c���$

�#��

(2) ��$/� A�0�/��#��

(3) ��$/� A�0�

(4) �#��$��� A�0#��

100. L�%��B�	�.�E��
�L�3���������

���*���Q
�W

(1) 0�������)$�����'


(2) ��+���$�����'


(3) 0������$�$�(�����F+�E*�

��R���
��2<�������'��

���'


(4) ��3�����������33�����'
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Questions (101 – 105) : Read the anecdote

carefully and answer the questions that

follow :

A young man took his father to a restaurant

for an evening dinner. Father being very old

and weak, dropped food on his shirt and

trousers while eating. Other diners watched

in disgust while the son remained clam.

After they finished eating, the son who was

not at all embarrassed, quietly took his father

to the washroom, wiped the food particles,

removed the stains, combed his hair and fitted

his spectacles firmly. When they came out,

the entire restaurant was watching them in

dead silence.

The son settled the bill and started walking

out with his father. At that time, an old man

amongst the diners called out to the son and

asked him, “Don’t you think you have left

something behind ?” The son replied, “No air,

I haven’t”. The old man retorted, “Yes, you

have ! You left a lesson for every son and

hope for every father”. The restaurant went

silent.

101. The father was unable to eat properly

because ________

(1) he was eating at the restaurant

(2) he was weak and ailing

(3) the other diners were watching him

(4) he did not like the food

102. How did the son behave at the
restaurant ?

(1) he was embarrassed

(2) he was calm and quiet

(3) he threatened the other diners

(4) he watched others in disgust

103. What quality of the son is revealed in

the story ?

(1) duty-bound and dedicated

(2) loyal and dependable

(3) helping and devoted

(4) all the above

104. ‘You left a lesson for every son and

hope for every father’. This means the

son

(1) left something in the restaurant

(2) left something for the old people

(3) became a model for the others to

follow

(4) left some money after paying the bill

105. The word from the passage that

means ‘ashamed’ is

(1) embarrassed

(2) disgusted

(3) retorted

(4) dropped
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Questions 106 – 111 : Read the passage
given below and answer the questions that
follow.
Ancient Egypt consisted of the desert
regions surrounding the Nile. This region
was the centre of one of the great early
civilizations. The civilization was based on
farming, particularly the growing of cereals
such as wheat, which was used to make
bread. The soil near the Nile was very fertile.
However, when the Nile flooded, extra
water had to be drained away. On the other
hand, during the dry parts of the year, the
land needed to be irrigated with water from
the Nile. Drainage and irrigation
necessitated large scale cooperative effort.
Because people had to work together on
these projects, they also learned to organize
their cities and government.

About 7,000 years age, the early Egyptians
introduced the use of copper and other
metals, the first writing and the first sea-
going ships. 5,200 years ago, Egypt was
divided into two states. The two states were
combined by a pharaoh named Menes.
During the next thousand years the
Egyptians developed a strong system of
government. They also began to build the
pyramids that can still be seen today.

Egypt began to control areas in other parts
of the Middle East about 3,500 years ago,
but after 500 years it lost control of these
areas. The Romans invaded and
conquered Egypt about 2,000 years ago.
Approximately 1,400 years ago, it was
conquered by the Arabs at the Battle of
Heliopolis and became an Islamic country.

106. The growing of cereals by the Egyptian
_______ years ago.

(1) fishing (2) farming

(3) marketing (4) construction

107. Pyramids were built by the Egyptians
_________ years ago.

(1) between 7,000 and 5,200

(2) between 5,200 and 4,200

(3) between 3,500 and 3,000

(4) between 3,000 and 1,400

108. The ancient Egyptians were the first
people to

(1) grow wheat

(2) make bread

(3) use irrigation

(4) use copper

109. The reason the Ancient Egyptians
had well-organized governments and
cities is that

(1) the soil near the Nile was very fertile

(2) the Pharaoh Menes united Egypt

(3) the civilization was based on
farming

(4) people learned to cooperate by
building drainage and irrigation
systems

110. The Romans invaded and conquered
Egypt about 2,000 years ago. The
word ‘conquer’ means

(1) occupy (2) vacate

(3) evacuate (4) engage

111. The word opposite in meaning to
‘barren’ is

(1) wet (2) fertile

(3) dry (4) damp
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Questions 112 – 117 : Complete the following

passage choosing the correct Phrasal Verbs

from the options given.

At the railway station I _____ (112) ______

my long lost friend who _____ (113) ______

a popular film star. At first I couldn’t ______

(114) ______ who he was. Then we ______

(115) ______ talking about our school life.

He ______ (116) ______ my offer to have

dinner at a restaurant as he had to visit his

uncle. He promised me that he would

______ (117) ______ as soon as he could.

112. (1) come up with

(2) come across

(3) come to

(4) come down

113. (1) take after

(2) take down

(3) take up

(4) take in

114. (1) make up

(2) make out

(3) make in

(4) make out of

115. (1) go on

(2) go up

(3) go off

(4) go with

116. (1) turn down

(2) turn up

(3) turn to

(4) turn out

117. (1) get on

(2) get at

(3) get back

(4) get out

Choose the correct answer from the options
given.

118. What _______ you like to have for

supper ?

(1) will

(2) might

(3) would

(4) shall

119. There are other people living in this
building _______ ourselves.

(1) beside

(2) besides

(3) before

(4) around

120. The boy fell fainted. Immediately the
doctor was _______

(1) sent off

(2) sent for

(3) sent in

(4) sent through
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Questions 121 – 124 : The farmers were

informed by the weather department that it

would rain _______ (121). The information

is usually accurate. ________ (122) it did not

rain for several days. When _______ (123)

the rain did come, it was inadequate _______

(124) all the crops were damaged.

121. (1) frequently

(2) much

(3) soon

(4) well

122. (1) however

(2) but

(3) though

(4) instead

123. (1) definitely

(2) in the end

(3) at last

(4) lastly

124. (1) and

(2) also

(3) even

(4) that

125. Children enjoy __________ cartoon
channels on TV.

(1) watching

(2) watch

(3) to watch

(4) watched

126. _________ everyone I know plays a
game on a mobile phone.

(1) The most

(2) Almost

(3) All

(4) Most of

127. Can you tell me where ________ ?

(1) is it the fuel station

(2) the fuel station is

(3) it is the fuel station

(4) is the fuel station

128. The one-day match caused a lot of
________

(1) excited

(2) exciting

(3) excite

(4) excitement

129. This vehicle is _______ one we have
seen all the week.

(1) cheaper than

(2) the cheap

(3) the cheapest

(4) the cheaper

130. The online parcel hasn’t reached yet.
I wish I ________ it earlier.

(1) was booking

(2) had booked

(3) am booking

(4) have booked
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131. The boy ________ TV all day.

(1) viewed

(2) looked

(3) saw

(4) watched

132. My school bag would have been
much lighter if I ________ in it all my
books.

(1) don’t pack

(2) didn’t pack

(3) hadn’t packed

(4) not pack

133. I was ________ after my Dad’s best
friend.

(1) called

(2) termed

(3) labelled

(4) named

134. The team hasn’t come back to school

(1) still

(2) already

(3) yet

(4) till

135. I ________ a mistake in the last day’s
test.

(1) made

(2) done

(3) did

(4) make

136. He is looking ________ a present for
his grandmother.

(1) for (2) at

(3) in (4) on

137. My Maths Teacher was good enough
to ________ my mistake.

(1) oversee

(2) overtake

(3) overdo

(4) overlook

138. Newspapers are _______ to
people’s doors every day.

(1) taken

(2) distributed

(3) delivered

(4) handed

139. Politicians pretend to ignore opinion

(1) votes

(2) figures

(3) numbers

(4) polls

140. He’d like to reveal the fact if it is
required. The expansion of ‘He’d’ is

(1) He did

(2) He had

(3) He could

(4) He would

141. The flight will _____ soon to Chennai.

(1) start up (2) get off

(3) take up (4) take off
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142. Would you mind ________ ?

(1) to keep the windows open ?

(2) keeping the windows open ?
(3) keep the windows open ?
(4) kept the windows open ?

143. Rani ________ in this school since
2005.
(1) had been working
(2) has been working

(3) is working
(4) was working

144. Unless you work hard you cannot
realise the goal. This means

(1) If you do not work hard you cannot
realise the goal

(2) If you work hard you cannot realise
the goal

(3) If you do not work hard you can
realise the goal

(4) If you worked hard you cannot
realise the goal

145. If you controlled your expense you
________ a lot of money.
(1) can save (2) could save
(3) must save (4) will

146. ‘We have been practising the skit for
three hours’. The right question to get
this response is
(1) How long have you been practising

the skit ?
(2) How far have you been practising

the skit ?
(3) How after have you been practising

the skit ?

(4) How much time have you been
practising the skit ?

147. Which of the following is grammatically

acceptable ?

(1) have you come yesterday ?

(2) do you come yesterday ?

(3) did you come yesterday ?

(4) you come yesterday ?

148. “Have you seen my spectacles” ?

Grandfather asked me. This can be

reported as

(1) Grandfather asked me if I had seen

his spectacles

(2) Grandfather asked me if I saw his

spectacles

(3) Grandfather asked me if have seen

his spectacles

(4) Grandfather asked me if I see his

spectacles

149. The famous book titled ‘The Story of

My Experiments with Truth’ is

(1) a science fiction

(2) a historical novel

(3) a biography

(4) an autobiography

150. The book titled ‘My Story’ is written

by : _________

(1) Mulkraj Anand

(2) Kamal Das

(3) Nissim Ezekiel

(4) Partasarathy
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